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1. 25% off of $300
2. 50% off of $19.99	
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3. $10 off of $59.99				     4.  30% off of $99.99



  







     5. 40% off of $699.49			      6. 10% off of $9.99










     7. 25% off of $850.49
 8. 60% off of $67.45
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     9. 10% off of $119.99				  10. $30 off of $199.99
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       11. 45% off of $1999.99		                       12. 15% off of $94.99







ANSWERS

1. 25% off of $300   
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2. 50% off of $19.99						
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 3. $10 off of $59.99	


$59.99 - $10 = $49.99	  

4. 30% off of $99.99
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 5. 40% off of $699.49	
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6. 10% off of $9.99	
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7. 25% off of $850.49
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8. 60% off of $67.45
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9. 10% off of $119.99	
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  10. $30 off of $199.99

  $199.99 - $30 = $169.99	


   11. 45% off of $1999.99		
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12. 15% off of $94.99
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There's 4 total decimal places in both numbers.

Ignore the decimal places and complete the
multiplication as if operating on two integers.

99 9
x 70
+ 000
+ 6 999 3
= 6 999 30

Rewrite the product with 4 total decimal places.
Answer = 69.9930

Therefore:
99.99 x 0.70 = 69.9930
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There's 4 total decimal places in both numbers.

Ignore the decimal places and complete the
multiplication as if operating on two integers.

6 9 949
x 6 0
+ 000
+ 4196 9 4
= 4196940

Rewrite the product with 4 total decimal places.
Answer = 419.6940

Therefore:
699.49 x 0.60 = 419.6940
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There's 3 total decimal places in both numbers.

Ignore the decimal places and complete the
multiplication as if operating on two integers.

9 9 9
x 9
+ 8 9 9 1
= 8 9 91

Rewrite the product with 3 total decimal places.
Answer = 8.991

Therefore:
9.99 x 0.9 = 8.991
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There's 4 total decimal places in both numbers.

Ignore the decimal places and complete the
multiplication as if operating on two integers.

8 50 4 9
x 75
+ 425245
+ 595343
= 6 37 8675

Rewrite the product with 4 total decimal places.
Answer = 637.8675

Therefore:
850.49 x 0.75 = 637.8675
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There's 3 total decimal places in both numbers.

Ignore the decimal places and complete the
multiplication as if operating on two integers.

67 45
x 4
+ 26980
26980

Rewrite the product with 3 total decimal places.
Answer = 26.980

Therefore:
67.45 x 0.4 = 26.980
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There's 3 total decimal places in both numbers.

Ignore the decimal places and complete the
multiplication as if operating on two integers.

11999
x 9
+ 1079 91
1079 91

Rewrite the product with 3 total decimal places.
Answer = 107.991

Therefore:
119.99 x 0.9 = 107.991
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There's 4 total decimal places in both numbers.

Ignore the decimal places and complete the
multiplication as if operating on two integers.

19999 9
x 55
+ 9999 95
+ 9999 95
= 10999 9 45

Rewrite the product with 4 total decimal places.
Answer = 1099.9945

Therefore:
1999.99 x 0.55 = 1099.9945
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There's 4 total decimal places in both numbers.

Ignore the decimal places and complete the
multiplication as if operating on two integers.

94 9 9
x 8 5
+ 47 495
+ 7599 2

= 807 415

Rewrite the product with 4 total decimal places.
Answer = 80.7415

Therefore:
94.99 x 0.85 = 80.7415
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There's 4 total decimal places in both numbers.

Ignore the decimal places and complete the
multiplication as if operating on two integers.

3000
x 75
+ 150000
+ 210000
= 2250000

Rewrite the product with 4 total decimal places.
Answer = 225.0000

Therefore:
300.00 x 0.75 = 225.0000
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There's 4 total decimal places in both numbers.

Ignore the decimal places and complete the
multiplication as if operating on two integers.

199
x 50
+ 000
+ 9 9 9 5
= 99950

Rewrite the product with 4 total decimal places.
Answer = 9.9950

Therefore:
19.99 x 0.50 = 9.9950




